Spectral coloursS, ¥{~=100

520
0,8 Sl%60 525Mmme\x (m) chromatic value, P60
5101 5%15romaticity (x,y)
y QN

m

X=97,06,Y,,=99,99,7,,=104,57
X=0,3218y,,=0,3315
Ao=(ag-[80,n*80,v*3p,Al) Y
Bo=(bg=[bo,r+0o,y*+0p,Al) Y

29 =ago [x/y]
bo = byg [2M 520 §

545
O

600
ay =1, byp=-0,4
. Ao
n = P60 _40 495 N ) 40
ag,y=ay(Y/Y1g-1)
b, y=boy(Y/Y1g-1)
agy=0,000,b,y=0,000 e
ag =0,000,0 4=0,000
CIE 1931 X Spectral coloursS, Yy=100
414@ max (m) chromatic value, P60 -40%40
0.0 0.2 0.4 0.6 08 10 chromatic value (Ao, Bg)
DE331-1A_1 DE331-2A_1
Xu=97,06,Y,,=99,992,~10457 B, Xo=97,06,Y,~99,99.2,~10457 B,
¥y=0,3218y,,=0,3315 0 %,=0,3218Y,,=0,3315 40
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
By=(by=[by ntby y+by al) Y Bo=(ba-[by 1tz y+bo Al) Y
ay = ago [(x-0,172/y] 2 = a0 [(x-0,172/y]
by =byo [ZA o bo=boo [(Mpax+bp Y] 545
ay=1, byg=-0,4 A ayp=1, byp=-0,4 520 c° A
mr;=1,000,b 1 Mp;=-0,169,b5,=0,389 2

n = P60 40 n = P60 -40 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1)
by y=boy(Y/Y1g-1) by v=boy(Y/Y1g-1)
2,y=0,000,b,,=0,000 470 a,y=0,000,b,,=0,000
ay 4=0,000,b; 4=0,000 a, o=0,000,b, ,=0,000
Spectral coloursS, {,=100 Spectral coloursS, Y{)=100
max (m) chromatic value, P60 -40 max (m) chromatic value, P60
chromatic value A4, B;) chromatic value (A,, Bo)
DE331-3A_1 DE331-4A_1
X=97,06,Y,,=99,997,=10457 B, X4=97,06,Y,,=99,99.2,710457 B,
Xy=0,3218y,,=0,3315 40 X=0,3218y,,=0,3315 40
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y By=(bg~[Dg n+by y+bg Al) Y
ag = ay[(x-0,17D/y] ay =2y [(x-0,171/y]
b3=byo [(Mp1x+bp1)/y] =50 [(Mp1x+bp1)/Y]
80=1, byp=-04 FC 600 A =1, by=-04 30 A
Mp1=—0,974,b;=0,658 3 mp;=—0,169,bp,=0,3; 600 "4

n = P60

a3 y=ay(Y/Y1g-1)
b y=boy(Y/Y1g-1)
a,y=0,000,b,y=0,000

ag 4=0,000,b3 x=0,000
Spectral coloursS, %,=100

n = P60 -40
3y, y=3ov(Y/Y1g71)
by y=boy(Y/Y1g-1)
a,y=0,000,b,y=0,000
a4, x=0,000,b, ,=0,000
Spectral coloursS, =100

max (m) chromatic value, P60 -40 max (m) chromatic value, P60 -40
chromatic value (Ag, B3) chromatic value (A4, Bs)

DE331-5A_1 DE331-6A_1
X=97,06,Y,,=99,992,=10457 B, X4=97,06,Y,,=99,99.2,=10457 B,
Xy=0,3218y,,=0,3315 40 X=0,3218y,,=0,3315 140
As=(35[35,1*35,y*a5,a]) Y Ae=(36~{36,1*35,y*35l) Y
Bs=(5-[bs n+bs y+0s5 Al) Y Bg=(b5~[Pg 10 y+05 Al) Y
85=8,,{(+8,61x~7,19/-0,26)4] g = a0 [X/y] +
bs=by,[(+1,99+3,86/-2,40)4E45 570 be=boo [(Mp1X+bp )] 545 s7p
a5, = 0,10,b5,=0,10 520 "' A an0= 1, byo= ~0.4 600 A
As,G.y,R=475,503,574,494¢,E g b 5 Mpy=-0,974,b,=0,858 po 6
n = P60 -40 495 vﬁ_\ 40 n = P60 -40 495 B 40
a5 y=apy(Y/Y1g-1) ag y=apy(Y/Y1g~1)
bs y=boy(Y/Y1g~1) 470 b, y=boy(Y/Y1-1) 470
2,y=0,000,b,,=0,000 a,y=0,000,b,,=0,000 —
a5, 4=0,000,bs ,=0,000 a5 4=0,000,b5 ,=0,000
Spectral coloursS, X,=100 Spectral coloursS, =100
max (m) chromatic value, P60 max (m) chromatic value, P60 T-40

chromatic value (As, Bs)

chromatic value (Ag, Bg)

DE331-7A_1

DE331-8A_1




Spectral coloursS, ¥{~=100

520
0,8 Sl%60 525Mmme\x (m) chromatic value, P55
5101 5%15romaticity (x,y)
y QN

m

X4=97,45Y,=100,00Z,~9598 B,
Xy=0,3321y,,=0,3407 20
Ag=(ag=[ag n*ag,y*ap,al) Y
Bo=(bo~[bo,ri+bo y+bo,al) Y
ag = ao [x/y]

545
o
b = byo [z 520 &

2,0= 1, byp= -0,4 oo A,
" A
n=P55 —40 45 N\ ' 40
ag,y=ay(Y/Y1g-1)
b, y=boy(Y/Y1g-1)
ayy=0,000,b,y=0,000 470
ag =0,000,0 4=0,000
CIE 1931 X Spectral coloursS, Yy=100 440
4400 max (m) chromatic value, P55 -40
0.0 0.2 0.4 0.6 08 10 chromatic value (Ao, Bg)
DE331-1A_1 DE331-2A_1
Xw=97,45,Y,,=100,00Z,-9598 B, Xu=9745,Y,~100,002,~95.98 B,
¥yy=0,3321y,,=0,3407 ) %y=0,3321y,,=0,3407 40
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
By=(by=[by ntby y+by al) Y Bo=(ba-[by 1tz y+bo Al) Y
ay = ago [(x-0,172/y] 2 = a0 [(x-0,172/y]
by =byo [ZA bo=boo [(Mpax+bp Y] 545
ax=1, byy= 0,4 600 A 30=1, bp=-0,4 520 @ A
mr;=1,000,b 1 Mp;=-0,169,b51=0,389 2

n=P55 -40 495 0 40 n = P55 -40 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1)
by y=boy(Y/Y1g-1) by v=boy(Y/Y1g-1)
2,y=0,000,b,,=0,000 470 a,y=0,000,b,,=0,000
ay 4=0,000,b; 4=0,000 a, o=0,000,b, ,=0,000
Spectral coloursS, {,=100 Spectral coloursS, Y{)=100
max (m) chromatic value, P55 -40 max (m) chromatic value, P55
chromatic value A4, B;) chromatic value (A,, Bo)
DE331-3A_1 DE331-4A_1
X=97,45Y,=100,007,795,98 B, X,=97,45,Y,=100,007,79598 B,
Xy=0,3321y,,=0,3407 40 Xw=0,3321y,,=0,3407 40
Ag=(az-[ag ytag y+agal) Y As=(ag-[ag ntas,y+asal) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y B,4=(b4~[Dy, 7+by y+by l) Y
ag = a0 [(x-0,172/y] ay =2y [(x-0,171/y]
b3=byg [(Mp1x+bp1)/y] bs=byo [(Mp1x-+bp1)/y]
ay0= 1, byo= -0,4 600 A 80=1, byp=-04 0 A
Mp1=-0,974 bp,=0, 3 mp;=—0,169,bp,=0,3; 600 04

a3 y=ay(Y/Y1g-1)
b y=boy(Y/Y1g-1)
a,y=0,000,b,y=0,000

ag 4=0,000,b3 x=0,000
Spectral coloursS, %,=100

n=P55 -40
3y, y=3ov(Y/Y1g71)
by y=boy(Y/Y1g-1)
a,y=0,000,b,y=0,000
a4, x=0,000,b, ,=0,000
Spectral coloursS, =100

max (m) chromatic value, P55 -40 max (m) chromatic value, P55 -40
chromatic value (Ag, B3) chromatic value (A4, Bs)

DE331-5A_1 DE331-6A_1
X=97,45Y,,=100,007,795,98 B, X4=97,45,Y,=100,007,79598 B,
Xy=0,3321y,,=0,3407 40 X=0,3321y,,=0,3407 140
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y
Bs=(bs—[bs n+bs y+0s ) Y Bg=(bs~[Dg,n+bs y*+0p Al) Y
as=ay(+8,61x-7,19/-0,26)$] ag = a0 [x/y] 1
D=, [(+1,99+3,86/-2,40)4p45 5 bs=byq [(Mp1X+bp1)/y] 545 57|
2y, =0,10,b,,= 0,10 520 -‘- A a=1, byy=-04 D A
As.G.y,R=475,503,574,494C, E TR, 5 Mp;=-0,974,b;=0, po 6
n = P55 -40 495 ‘ﬂ_ 40 n=P55 b 40
a5 y=apy(Y/Y1g-1) ag y=apy(Y/Y1g~1)
bs y=boy(Y/Y1g~1) 0 b, y=boy(Y/Y1-1) 470
2,y=0,000,b,,=0,000 a,y=0,000,b,,=0,000 T am
a5, 4=0,000,bs ,=0,000 a5 4=0,000,b5 ,=0,000
Spectral coloursS, X,=100 Spectral coloursS, =100
max (m) chromatic value, P55 max (m) chromatic value, P55 T-40
chromatic value (Ag, Bs) chromatic value (Ag, Bg)

DE331-7A_1 DE331-8A_1




Spectral coloursS, ¥{~=100
M,,,max (m) chromatic value, P50
m%%omaticity (x,y)

5, 220 525

CIE 1931

X

0,6 0,8

1,0

X,=98,12,Y,=100,00Z,-86,50 B,
Xy=0,3447y,=0,3513

Ag=(ag=[ag n*ag,y*ap,al) Y
Bo=(bo~[bo,ri+bo y+bo,al) Y
ag = ao [x/y]

b = byo [z

ay =1, byp=-0,4

n=P50
ag,y=ay(Y/Y1g-1)
b, y=boy(Y/Y1g-1)
a,y=0,000,b,,=0,000

a9 A=0,000,by ,=0,000
Spectral coloursS, =100
max (m) chromatic value, P50
chromatic value (Ag, Bg)

|
‘ V,
DE331-1A 1

DE331-2A_1

Xw=98,12.Y,,=100,00Z,~86,50 B,
xy=0,3447y,,=0,3513
Ar=(ar~[ag n+ay yt+ag al) Y
B1=(by—[by y+by y+by A) Y
3y = ay[(x-0,17Dh]
by =byo [ZA

ay=1, byp=-0,4
mr;=1,000,b

Xu=98,12,Y,~100,002,~86,50 B,
X=0,3447y,,=0,3513
Ax=(ay[ag n+ay, y*ap al) Y
Bo=(by=[by +bs y+0y Al) Y
2y = a0 [(x=0,17D/y]
=bs0 [(Mpx+bp1)/Y]
a0=1,b0=-04 55
Mp;=-0,169,b5,=0,389

545

n=P50 40 n=P50 -40 495 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1)
by y=boy(Y/Y1g~1) by v=boy(Y/Y1g-1)
2,y=0,000,b,,=0,000 470 a,y=0,000,b,,=0,000
ay 4=0,000,b; 4=0,000 a, o=0,000,b, ,=0,000
Spectral coloursS, {,=100 Spectral coloursS, Y{)=100
max (m) chromatic value, P50 -40 max (m) chromatic value, P50
chromatic value A4, B;) chromatic value (A,, Bo)
DE331-3A_1 DE331-4A_1
X,=98,12,Y,,=100,007,786,50 B, X,=98,12,Y,,=100,00Z,786,50 B,
Xy=0,3447y,,=0,3513 40 X=0,3447y,,=0,3513 40
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y By=(bg~[Dg n+by y+bg Al) Y
ag = ay[(x-0,17D/y] ay =2y [(x-0,171/y]
b3=byo [(Mp1x+bp1)/y] =50 [(Mp1x+bp1)/Y]
80= 1, byo=-0,4 > 600 A 80=1, by=-0,4 520 A
Mp1=-0,974 bp,=0, 3 mp;=—0,169,bp,=0,389 4

a3 y=ay(Y/Y1g-1)
b y=boy(Y/Y1g-1)
a,y=0,000,b,y=0,000

ag 4=0,000,b3 x=0,000
Spectral coloursS, %,=100

n=P50 -40
3y, y=3ov(Y/Y1g71)
by y=boy(Y/Y1g-1)
a,y=0,000,b,y=0,000
a4, x=0,000,b, ,=0,000

Spectral coloursS, =100

max (m) chromatic value, P50 -40 max (m) chromatic value, P50 -40
chromatic value (Ag, B3) chromatic value (A4, Bs)

DE331-5A_1 DE331-6A_1
X,=98,12,Y,,=100,007,786,50 B, X,=98,12,Y,,=100,00Z,786,50 B,
Xy=0,3447y,,=0,3513 40 X=0,3447y,,=0,3513 140
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y
Bs=(bs—[bs n+bs y+0s ) Y Bg=(bs~[Dg,n+bs y*+0p Al) Y
a5=a,,{(+8,61x-7,19/~0,26)4] ag = ag [X/Y] 1
bs=by,{(+1,9%+3,86/-2,40)§k45 510 bg=bs0 [(Mp1x+bp1)/y] 57
5= 0,10,by, = 0,10 520 &° e A ay0=1, byp=-0,4 s 600 A
AB,G,Y,R=475,503.574,494c 5 Mp;=-0,974,b;=0,658 po 6
n = P50 -40 495 ‘%_\ n=P50 B 40
a5 y=apy(Y/Y1g-1) ag y=apy(Y/Y1g~1)
bs y=boy(Y/Y1g~1) LAy b, y=boy(Y/Y1-1) 4T
2,y=0,000,b,,=0,000 a,y=0,000,b,,=0,000 T 440
a5, 4=0,000,bs ,=0,000 a5 4=0,000,b5 ,=0,000
Spectral coloursS, X,=100 Spectral coloursS, =100
max (m) chromatic value, P50 max (m) chromatic value, P50 T-40

chromatic value (As, Bs)

chromatic value (Ag, Bg)

DE331-7A_1

DE331-8A_1




5 520 co5 Spectral coloursS, ¥,=100
7 M,,,max (m) chromatic value, P45
romat|C|ty (x,y)

X,=99,20,Y,,=100,00Z,=76,07 B,
Xy=0,3603y,,=0,3632

Ag=(ag=[ag n*ag,y*ap,al) Y
Bo=(bo~[bo,ri+bo y+bo,al) Y
ag = ao [x/y]
b = byo [z
ayy= 1, bZU: -0,4 520 Q

n=P45
ag,y=ay(Y/Y1g-1)
b, y=boy(Y/Y1g-1)
agy=0,000,b,y=0,000
ag =0,000,0 4=0,000

-40

CIE 1931 X Spectral coloursS, Yy=100
max (m) chromatic value, P45
0,6 0.8 10 chromatic value Ay, Bg)

DE331-1A_1 DE331-2A_1
Xw=99,20,Y,,=100,00,2,,=76,07 B1 Xw=99,20,Y,,~100,00,2,,=76,07 B2
Xy=0,3603y,,=0,3632 40 X=0,3603y,,~0,3632 40
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
By=(1-[by n+by y+by al) Y B;=(b—[by 02 y+02 Al) Y
3y = ay[(x-0,17Dh] a =2y [(x-0,171)/y]

=hyo[2/M] b=bao [(Mpxtbpoly]
A= 1, by = =0,4 w0 a0=1,byy=-04 A
mr;=1,000,b 1 Mp;=-0,169,bp1=0.3 2

n=P45 —40 495 o 40 n=P45 —-40 495 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1) 470
by y=boy(Y/Y1g~1) 470 by v=boy(Y/Y1g-1)
2,y=0,000,b,,=0,000 a,y=0,000,b,,=0,000
ay 4=0,000,b; 4=0,000 a, o=0,000,b, ,=0,000
Spectral coloursS, {,=100 Spectral coloursS, Y{)=100
max (m) chromatic value, P45 -40 max (m) chromatic value, P45
chromatic value A4, B;) chromatic value (A,, Bo)
DE331-3A_1 DE331-4A_1
X,=99,20,Y,=100,007,776,07 B, X,=99,20,Y,,=100,00Z,776,07 B,
Xy=0,3603y,,=0,3632 40 Xy=0,3603y,,=0,3632 40
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
B3=(bs[b3 b3 y+b3 al) Y B,4=(b4~[Dy, 7+by y+by l) Y
a3 = a0 [(x-0,172/y] 83 =20[(x-0,179h]
b3=byg [(Mp1x+bp1)/y] bs=byo [(Mp1x-+bp1)/y]
ay0= 1, byo=-0,4 600 ay0=1, byy=-0,4 520
Mp3=-0,974,b;=0, As Mp1=-0,169,bp;=0,389 As

n=pas
a3 y=ay(Y/Y1g-1)
b y=boy(Y/Y1g-1)
ay=0,000,b,y=0,000
25,4=0,000,05,4=0,000
Spectral coloursS, %,=100

n = P45 -40 40
3y, y=3ov(Y/Y1g71)
by y=boy(Y/Y1g-1)
a,y=0,000,b,y=0,000
a4, x=0,000,b, ,=0,000

Spectral coloursS, =100

max (m) chromatic value, P45 -40 max (m) chromatic value, P45 -40
chromatic value (Ag, B3) chromatic value (A4, Bs)

DE331-5A_1 DE331-6A_1
Xw=99,20,Y,,=100,002,=76,07 By X,=99,20,Y,,=100,002,~76,07 B,
X=0,3603y,,=0,3632 40 %=0,3603y,,=0,3632 +40

As=(35[35,1*35,y*a5,a]) Y
Bs=(bs—[bs b5 v+bs Al) Y
a=a,,[(+8,61x-7,19/-0,26)4]
b5-b2x[(+1 99+3,86/-2 40)5/;45
=0,10 bzx =0,10

n= P45
a5 y=ay(Y/Y1g-1)
bs y=boy(Y/Y1g~1) 470
a,y=0,000,b,y=0,000

a5 4=0,000,bs 4=0,000
Spectral coloursS, X,=100
max (m) chromatic value, P45
chromatic value (Ag, Bs)

Ae=(36~{36,1*35,y*35l) Y
Bg=(Pg—[bg n+bs,y+0s Al) Y
g = a0 [X/y] +
bg=bs0 [(Mp1x+bp1)/y] -

a=1, byy=-04 545 600 A
Mpy=-0,974,b5,=0, 700 6
n = P45 -40 105 b 40

ag y=apy(Y/Y1g-1)
b, y=boy(Y/Y1-1) 20

ay=0,000,b,y=0,000 T “0
a5,4=0,000,b5 4=0,000

Spectral coloursS, =100

max (m) chromatic value, P45 T-40

chromatic value (Ag, Bg)

DE331-7A_1

DE331-8A_1




Spectral coloursS, ¥{~=100
M, max (m) chromatic value, P40

rg%%omaticity (x,y)
QWi
L
7
P4

fe.E CIE 1931 X

5, 220 525

X,=100,93Y,,=100,00Z,~64.68 B,
X=0,3799y,,~0,3764
Ao=(ag-[2g n+80,y*ap,Al) Y
Bo=(bo~[bo,ri+bo y+bo,al) Y
ag = ao [x/y]

b = byo [z 5
a0=1,00=-04 520

n = P40
ag,y=ay(Y/Y1g-1)

b, y=boy(Y/Y1g-1)
a,y=0,000,b,,=0,000

a9 A=0,000,by ,=0,000
Spectral coloursS, =100
max (m) chromatic value, P40

-40

o) D 600 Ao

A%
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value (Ao, Bp)
DE331-1A_1 DE331-2A_1
X,=100,93)Y,,=100,00Z,64,68 B, X,=100,93),,=100,00Z,64,68 B,
%y=0,3799y,,=0,3764 40 %y =0,3799y,,=0,3764 20

Ar=(ar~[ag n+ay yt+ag al) Y
B1=(by—[by y+by y+by A) Y
ay = ayo [(x-0,17D/y] 4

Ax=(ay[ag n+ay, y*ap al) Y
Bo=(by=[by +bs y+0y Al) Y
ay = a0 [(x—0,17D/y]

by =byo [ZA 545 70 =bs0 [(Mpx+bp1)/Y] s
ay0= 1, byo=-0,4 600 ay0=1, byy=-0,4
mr;=1,000, po Ay Mp;=—0,169,bp,=0,358" A
n=P40 Fo 40 n = P40 -40 495 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1) 470
by y=boy(Y/Y1g~1) 470 by v=boy(Y/Y1g-1)
2,y=0,000,b,,=0,000 i a,y=0,000,b,,=0,000
ay 4=0,000,b; 4=0,000 a, o=0,000,b, ,=0,000
Spectral coloursS, {,=100 Spectral coloursS, Y{)=100
max (m) chromatic value, P40 T-40 max (m) chromatic value, P40
chromatic value A4, B;) chromatic value (A,, Bo)

DE331-3A_1 DE331-4A_1
X,,=100,93)Y,,100,007,764,68 B, X,=100,93),,100,007,,64,68 B,

40 Xw=0,3799y,,=0,3764 T 40

Xw=0,3799y,,=0,3764
Ag=(ag-[ag n+ag y+ag al) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y
ag = ay[(x-0,17D/y]
b3=byo [(Mp1x+bp1)/y]
ay=1, byp=-0,4

As=(8y~[a4,1+aq y*+ag al) Y
B,=(b4=[Dg 04 y+04 Al) Y
ay = a0 [(x-0,172/y] 4L
=50 [(Mp1x+bp1)/Y]

a,0=1, byy=-0,4 245 70

Mpy=-0,974b,=0, mpy=-016905,20389 L RX_—— . A
n= P40 40 n = P40 —40 "495 *%so 40
a3 y=ay(Y/Y1g-1) 3y, y=agy(Y/Y1g-1) a0
b y=boy(Y/Y1g-1) by y=boy(Y/Y1g-1) 1
2,y=0,000,b,,=0,000 a,y=0,000,b,,=0,000
ag 4=0,000,b3 x=0,000 ay o=0,000,b4 ,=0,000
Spectral coloursS, %,=100 Spectral coloursS, =100
max (m) chromatic value, P40 -40 max (m) chromatic value, P40 T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)

DE331-5A_1 DE331-6A_1
X,,=100,93),,100,00Z,764,68 B X,=100,93),,100,007,,64,68 B,
Xy=0,3799y,,=0,3764 40 X=0,3799y,,~0,3764 40
As=(35[35,1*35,y*a5,a]) Y Ae=(36~{36,1*35,y*35l) Y
Bs=(5-[bs n+bs y+0s5 Al) Y Bg=(b5~[Pg 10 y+05 Al) Y
a5=ap,{(+8,61x~7,1%-0,26)4] ag =y [x/y]
bg=b,,{(+1,99+3,86/-2,40)4] b bg=b20 [(Mp1x+bp1)/Y]
5= 0,10,b5, = 0,10 o X ay0=1, byp=-0,4 600
Ap,.y,r=475,508.574 B89 Emen__ 1 As mpg=—0.974,0p As

72

n=P40 —40 195 n=P40 40 40

a5 y=ay(Y/Y1g-1) /56
bs y=boy(Y/Y1g~1)
a,y=0,000,b,y=0,000

a5, 4=0,000,bs ,=0,000
Spectral coloursS, X,=100
max (m) chromatic value, P40
chromatic value (Ag, Bs)

ag y=apy(Y/Y1g~1)

b, y=boy(Y/Y1-1)
a,y=0,000,b,,=0,000

a5 4=0,000,b5 ,=0,000
Spectral coloursS, =100
max (m) chromatic value, P40
chromatic value (Ag, Bg)

DE331-7A_1

DE331-8A_1




5 520 co5 Spectral coloursS, ¥{~=100
7 M, max (m) chromatic value, P35
romat|C|ty (x,y)

CIE 1931 X

0,6 0,8 1,0

X,=103,66Y,=99,99.2,-52.43 B,
Xy=0,4047y,,=0,3904

Ag=(ag=[ag n*ag,y*ap,al) Y
Bo=(bo~[bo,ri+bo y+bo,al) Y
ag = ao [x/y]

b = byo [z

ay =1, byp=-0,4

545
O
5200
n=P35
ag,y=ay(Y/Y1g-1)

b, y=boy(Y/Y1g-1)
a,y=0,000,b,,=0,000

a9 A=0,000,by ,=0,000
Spectral coloursS, =100

max (m) chromatic value, P35
chromatic value (Ag, Bg)

-40

DE331-1A_1

DE331-2A_1

X,,=103,66)Y,,=99,99.Z,752,43 B,
Xy=0,4047y,,=0,3904
Ar=(ar~[ag n+ay yt+ag al) Y
B1=(by—[by y+by y+by A) Y
a1 =ay[(x-0,179H]
= by [2/]
ay=1, byp=-0,4
mr,=1,000,b
n=P35 -40
ay,y=ay(Y/Y1g-1)
by y=boy(Y/Y1g~1)
2,y=0,000,b,,=0,000
2y 4=0,000,b; ,=0,000
Spectral coloursS, {,=100
max (m) chromatic value, P35
chromatic value A4, B;)

X,=103,66)Y,799,99.,75243 B,
Xw=0,4047y,,=0,3904
Ax=(ay[ag n+ay, y*ap al) Y
Bo=(by=[by +bs y+0y Al) Y
8 = a9 [(x-0,179/y]

0,=byo [(Mp1x-+bp1)/y]
ay0=1, byy=-0,4 545
mp;=-0,169,bp;=0,3
n=P35 -40
a5 y=agy(Y/Y1g-1)

by v=boy(Y/Y1g-1)
a,y=0,000,b,,=0,000

a, o=0,000,b, ,=0,000
Spectral coloursS, Y{)=100
max (m) chromatic value, P35
chromatic value (A,, Bo)

A,
40

DE331-3A_1

DE331-4A_1

Xu=103,66Y,=99997,-5243 B,
¥w=0,4047y,,=0,3904

Ag=(ag-[ag n+ag y+ag al) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y
ag = ay[(x-0,17D/y]
b3=byo [(Mp1x+bp1)/y]

a,0= 1, byo=-0,4 sas 600 A
Mp1=-0,974,6,=0.658 .. O 3
n=P35 -40 5 40

a3 y=ay(Y/Y1g-1)
b y=boy(Y/Y1g-1)
a,y=0,000,b,y=0,000

ag 4=0,000,b3 x=0,000
Spectral coloursS, %,=100

X,=103,66¥,=99,99.2,~5243 B,
%=0,4047y,=0,3904
Ag=(ag~[ag n+ay, y+ay Al) Y
By=(bg~[Dg n+by y+bg Al) Y

ay =2y [(x-0,171/y]

=50 [(Mp1x+bp1)/Y]

0= 1, byo= ~0,4 545
mpy=-0,169,bp=0,389 520
n=P35 -40 495
3y, y=agy(Y/Y1g-1) 470
by y=boy(Y/Y1g-1)
a,y=0,000,b,y=0,000

a4 4=0,000,b; 4=0,000
Spectral coloursS, =100

Ay

max (m) chromatic value, P35 -40 max (m) chromatic value, P35 -40
chromatic value (Ag, B3) chromatic value (A4, Bs)

DE331-5A_1 DE331-6A_1
X,=103,66)Y,,=99,99.Z,752,43 B, X,=103,66)Y,,99,99.7,75243 B,
X=0,4047y,,=0,3904 40 X=0,4047y,,=0,3904 40

As=(35[35,1*35,y*a5,a]) Y
Bs=(bs—[bs b5 v+bs Al) Y
a=a,,[(+8,61x-7,19/-0,26)4]
b5-b2x[(+1 99+3,86/-2,40)4]

0y = 0,106, = 0,10 5456 57 A
)\BYGYYVR—MS 503,574,494 600 75
n=P35 -40 495 40
a5 y=apy(Y/Y1g-1) 470

bs y=boy(Y/Y1g~1)
2,y=0,000,b,,=0,000

a5, 4=0,000,bs ,=0,000
Spectral coloursS, X,=100
max (m) chromatic value, P35
chromatic value (Ag, Bs)

Ae=(36~{36,1*35,y*35l) Y
Bg=(Pg—[bg n+bs,y+0s Al) Y
g = a0 [X/y]

bg=bao [(Mp1x+0p1)/y]
ay=1, byp=-0,4
mp;=-0,974,bp e
n=P35 _40

ag y=apy(Y/Y1g~1)

b, y=boy(Y/Y1-1)
a,y=0,000,b,,=0,000

a5 4=0,000,b5 ,=0,000
Spectral coloursS, =100
max (m) chromatic value, P35
chromatic value (Ag, Bg)

DE331-7A_1

DE331-8A_1




5, 220 525

Q
m

Spectral coloursS, ¥{~=100
M, max (m) chromatic value, P30
55]‘é'|§r?oma\ticity (x,y)

CIE 1931 X

0,6 0,8 1,0

X,=108,04,,~100,00Z,~39,55 B,
Xy=0,4363y,,=0,4038 40
Ag=(ag=[ag n*ag,y*ap,al) Y
Bo=(bo~[bo,ri+bo y+bo,al) Y

29 =ago [x/y]

bg = bao [2M)

app=1, byy=-0,4

n=P30

ag,y=ay(Y/Y1g-1)

b, y=boy(Y/Y1g-1) 470 hao

a,y=0,000,b,y=0,000

2y 5=0,000,by x=0,000

Spectral coloursS, =100

max (m) chromatic value, P30 -40
chromatic value (Ag, Bg)

DE331-1A_1

DE331-2A_1

X,=108,04,~100,00Z,~3955 B,

Xy=0,4363y,,=0,4038
Ar=(ar~[ag n+ay yt+ag al) Y
B1=(by—[by y+by y+by A) Y
3y = ay[(x-0,17Dh]

by =byo [ZA

ay,y=ay(Y/Y1g-1)

by y=boy(Y/Y1g-1)
2,y=0,000,b,,=0,000

ay 4=0,000,b; 4=0,000
Spectral coloursS, {,=100
max (m) chromatic value, P30
chromatic value A4, B;)

X,=108,04,,=100,00Z,=39,55 B,
X=0,4363y,,=0,4038
Ax=(ay[ag n+ay, y*ap al) Y
Bo=(ba-[by 1tz y+bo Al) Y
2y = a0 [(x=0,17D/y]

=bs0 [(Mpx+bp1)/Y]
ay0=1, byy=-0,4 545
mp;=-0,169,bp;=0,38620
n=P30 -40
a5 y=agy(Y/Y1g-1)

by v=boy(Y/Y1g-1)
a,y=0,000,b,,=0,000

a, o=0,000,b, ,=0,000
Spectral coloursS, Y{)=100
max (m) chromatic value, P30
chromatic value (A,, Bo)

A,
40

DE331-3A_1

DE331-4A_1

X,=108,04,~100,00Z,~3955 B,

¥=0,4363y,,=0,4038
Ag=(ag-[ag n+ag y+ag al) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y
ag = ay[(x-0,17D/y]

b3=byo [(Mp1x+bp1)/y]
ay=1, byp=-0,4
Mp1=—0,974.5

X,=108,04,,=100,00Z,~39,55 B,
%,y=0,4363y,=0,4038

As=(8y~[a4,1+aq y*+ag al) Y
B,=(b4=[Dg 04 y+04 Al) Y
ay = a0 [(x-0,172/y]
=50 [(Mp1x+bp1)/Y]
ay =1, byp=-0,4
Mpy=-0,169,by

Ay

n=P30 40 n=P30 40
a3 y=ay(Y/Y1g-1) 3y, y=agy(Y/Y1g-1)
b y=boy(Y/Y1g-1) by y=boy(Y/Y1g-1)
a,y=0,000,b,y=0,000 a,y=0,000,b,y=0,000
ag 4=0,000,b3 x=0,000 ay o=0,000,b4 ,=0,000
Spectral coloursS, %,=100 Spectral coloursS, =100
max (m) chromatic value, P30 -40 max (m) chromatic value, P30 -40
chromatic value (Ag, B3) chromatic value (A4, Bs)

DE331-5A_1 DE331-6A_1
X,=108,04Y,,100,007,=39.55 B, X,=108,04,,=100,007,=3955 B,
x,=0,4363y,,=0,4038 40 X=0,4363y,,~0,4038 40
As=(35[35,1*35,y*a5,a]) Y Ae=(36~{36,1*35,y*35l) Y
Bs=(bs—[bs b5 v+bs Al) Y Bg=(Pg—[bg n+bs,y+0s Al) Y
ag=ay,[(+8,61x~7,19/-0,26)4] g = a0 [X/y]
bs=by,{(+1,9%+3,86/-2,40)4] bg=bao [(Mp1x+0p1)/y]
apy = 0,10,b,, = 0,10 545 570 A ay=1, byg=-0,4 N
Ag,G.y,R=475,503,574,49% 5 Mp;=-0,974,by,=0,658 335 6
n=P30 -40 495 40 n = P30 -40 40
a5 y=agy(Y/Y1g~1) 470 ag y=apy(Y/Y1g~1)

bs y=boy(Y/Y1g~1)
2,y=0,000,b,,=0,000

a5, 4=0,000,bs ,=0,000
Spectral coloursS, X,=100
max (m) chromatic value, P30
chromatic value (Ag, Bs)

b, y=boy(Y/Y1-1)
a,y=0,000,b,y=0,000
a5 5=0,000,b5 x=0,000
Spectral coloursS, =100
max (m) chromatic value, P30
chromatic value (Ag, Bg)

DE331-7A_1

DE331-8A_1




Spectral coloursS, ¥{~=100

520
0,8 5152803%%\ | max (m) chromatic value, P25
5101 m%%romaticity (x,y)
y 5]

m

X,~=115,18,Y,,100,002,~26,59 B,
X=0,4764y,,~0,4136 140
Ao=(ag-[80,n*80,v*3p,Al) Y
Bo=(bo~[bo,tbo,y+0o,Al) Y

29 =ago [x/y] +
bg = bao [2M)
=1, byg=-0,4
a0 20 545 570 00 Ag
52
n= E’25 -40 . 40
ag,y=ay(Y/Y1g-1) 470 4a0
b, y=boy(Y/Y1g-1) 1
a,,=0,000,5,,=0,000
ag =0,000,by A=0,000
CIE 1931 X Spectral coloursS, Yy=100
max (m) chromatic value, P25 T-40
0,6 0,8 1,0 chromatic value (Ao, Bp)
DE331-1A_1 DE331-2A_1
X,=115,18Y,,100,007,=26 59 B, X,=115,18Y,,100,007,-26 59 B,
X=0,4764y,,=0,4136 La0 X=0,4764y,,=0,4136 10
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
By=(by=[by ntby y+by al) Y Bo=(ba-[by 1tz y+bo Al) Y
ay = ayo [(x-0,17D/y] 4 ay = a0 [(x—0,17D/y] 4
by =byo [ZA =bs0 [(Mpx+bp1)/Y]
ay=1, byp=-0,4 545 570 ay=1, byp=-0,4 545 570
mr1=1,000,b;=0,171 _s» Eﬁm Ay mp1=-0,169 bp;=0,38%2 700 A
n=PpP25 -40 Eo 40 n=PpP25 -40 495 40
_ 495 _ 470
3y y=apy(Y/Y1g-1) 47044 ap y=apy(Y/Y1g~1) 0
by v=boy(Y/Y1g-1) 1 03 y=boy(Y/Y1g-1) 1
a,y=0,000,b,y=0,000 a,y=0,000,b,y=0,000
2y 4=0,000,b; ,=0,000 ap o=0,000,b, ,=0,000
Spectral coloursS, {,=100 Spectral coloursS, Y{)=100
max (m) chromatic value, P25 T-40 max (m) chromatic value, P25 T-40
chromatic value A4, B;) chromatic value (A,, Bo)
DE331-3A_1 DE331-4A_1

Xw=115,18Y,,=100,00Z,2659 B,
Xy=0,4764y,,=0,4136
Ag=(ag-[ag n+ag y+ag al) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y

ag = ay[(x-0,17D/y]

b3=byo [(Mp1x+bp1)/y]

ay=1, byp=-0,4
mp;=-0,974,bp,=0,658 54

Xy=115,18Y,,=100,00Z,~26,59 B,
X=0,4764y,,~0,4136

As=(8y~[a4,1+aq y*+ag al) Y
B,=(b4=[Dg 04 y+04 Al) Y
ay = a0 [(x-0,172/y]
=50 [(Mp1x+bp1)/Y]
ay =1, byp=-0,4
Mpy=-0,169,by

Ay

n=P25 -40 40 n=P25 40
a3 y=ay(Y/Y1g-1) 3y, y=agy(Y/Y1g-1)
b y=boy(Y/Y1g-1) by y=boy(Y/Y1g-1)
2,y=0,000,b,,=0,000 a,y=0,000,b,,=0,000
a3,4=0,000,b3 4=0,000 a,,4=0,000,b, ,=0,000
Spectral coloursS, %,=100 Spectral coloursS, =100
max (m) chromatic value, P25 -40 max (m) chromatic value, P25 -40
chromatic value (Ag, B3) chromatic value (A4, Bs)
DE331-5A_1 DE331-6A_1
X,=115,18)Y,,100,00Z,726,59 B, X,=115,18)Y,,=100,00Z,2659 B,
X, =0,4764y,,=0,4136 40 X=0,4764y,,~0,4136 40
As=(as~[85,1*a5 y*35,A) Y Ag=(a6™[86,1*a6 v*3,al) Y
Bs=(bs—[bs b5 v+bs Al) Y Bg=(Pg—[bg n+bs,y+0s Al) Y
a5=a,,[(+8,61x~7,19/-0,26)4] 3G = ag [X/y]
bs=ba,{(+1,99+3,86/-2,40)4] bg=b20 [(Mp1x+bp1)/Y]
3% =0,10,b5, = 0,10 545 570 A 80=1, by=-0,4 . 0 A
Ag.G.y,R=475,503,574,4 5 Mp;=-0,974b;=0,658 545 6
n=PpP25 -40 495 40 n=PpP25 -40 40
a5 y=apy(Y/Y1g-1) any ag y=apy(Y/Y1g~1)

bs y=boy(Y/Y1g~1)
2,y=0,000,b,,=0,000

a5, 4=0,000,bs ,=0,000
Spectral coloursS, X,=100
max (m) chromatic value, P25
chromatic value (Ag, Bs)

b, y=boy(Y/Y1-1)
a,y=0,000,b,y=0,000
a5 5=0,000,b5 x=0,000
Spectral coloursS, =100
max (m) chromatic value, P25
chromatic value (Ag, Bg)

DE331-7A_1

DE331-8A_1




